Y-1000

=075

IZ iﬂz A3 : $=1/300

X=1050 X:1050

B R DA

AR ] i

FEFZ (X=1000. 9569 , Y= 994.3103)
FEFZE (X=1010.6082 , Y= 997.9207)
FEFZ (X=1013.1423 , Y= 999.0331)
FEFE (X=1022.8450 , Y=1003.2991)
FERZ (X=1027.2023 , Y=1005. 1964)
FEFE (X=1041.1941 , Y=1011.0387)
FEFE (X=1036. 6827 , Y=1018.6178)
FEFE (X=1031.5880 , Y=1027.2427)
FEFZ (X=1030.9904 , Y=1028.2941)
FEFZ (X=1029.2618 , Y=1031.5114)
FEFE (X=1025.9133 , Y=1037.2637)
FEFZE (X=1025. 8001 , Y=1037. 2559)
FEFZE (X=1020.6129 , Y=1036. 8985)
FEFZE (X=1012.6076 , Y=1036. 2750)

X=1025

FEFZ (X=1008. 7051 , Y=1036.0012)
FEFZ (X=1009. 5540 , Y=1005. 8402)
FEAZ (X= 999.4681 , Y=1004. 7461)
FEFZ (X=1000.9046 , Y= 994.5334)

alala|alalala]a|=
I G N I NI N R e e el hd R bl Rl R

~~~~~

R TR DA
Bl f=1 & 2]
IKEE 5
IKEE 5
TKEE 5
TKEE 5
TKEE 5
TKEE 5 |
IKERS , 7t 24*2"% “ y o

l

l

l
(NN

RIZEE : 932.00m

1000

O Id(ooja|b|[LWIN|—
l

~ 9| KER
JKEER
11| KR
12 | BEER
13 | BBAER
14 | R
15 | EEAESR
16 | Btz i
17| Buthig i
18 | ERRIESR
ERRIER

©
l

—_

o

S
l

l

7 FLEEE

N
l

@
l

HHAELEDER
(EFETRTE)

NER 2:2-153 EF—THAE

=
l

>

o
l

X
[

X &= B

>
l

=
l

1/ 300 (A3)

—

o)
l

—

£ 4FEPDON 4

B &
dE| A

E F BT

Y-1000

Y07




